Stones to Kilograms

Name: Class:

Fill in the correct numbers.
Take 1 stone = 6.35 kg and round your answers off to the nearest hundredth.

2 stones = kg 0.4 stones = kg
5 stones = kg 12 stones = kg
7 stones = kg 1.9 stones = kg
0.5 stones = kg 15 stones = kg
1.3 stones = kg 0.01 stones = kg
0.6 stones = kg 2.25 stones = kg

If 1 stone = 6.35 kg, 1 kg equals 1/6.35 = 0.16 stone

30kg = stones 1.6 kg = stones
120 kg = stones 103 kg = stones
230 kg = stones 50kg = stones
300 kg = stones 10.5kg = stones
400 kg = stones 35kg = stones
210 kg = stones 133 kg = stones
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Answers

Fill in the correct numbers.
Take 1 stone = 6.35 kg and round your answers off to the nearest hundredth.

2 stones 12.7 | kg 0.4 stones 2.54 | kg

5 stones 31.75 | kg 12 stones 76.2 | kg

7 stones 44 .45 | kg 1.9 stones 12.07 | kg

0.5 stones 3.18 | kg 15 stones 95.25 | kg

1.3 stones 8.26 | kg 0.01 stones 0.06 | kg

0.6 stones 3.81 | kg 2.25 stones 14.29 | kg

If 1 stone = 6.35 kg, 1 kg equals 1/6.35 = 0.16 stone

30 kg 4.72 | stones 1.6 kg 0.25 | stones
120 kg 18.9 | stones 10.3 kg 1.62 | stones
230 kg 36.22 | stones 50 kg 7.87 | stones
300 kg 47.24 | stones 10.5 kg 1.65 | stones
400 kg 62.99 | stones 35 kg 5.51 | stones
210 kg 33.07 | stones 133 kg 20.94 | stones
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